ASSEMBLY INSTRUCTION

eDo not skip any step.
e Do not fully tight screws until all the bed parts are assembled.

( WARNING: )

o\WARNIND FOR YOUNG CHILDREN-This product contains small

components,please ensure that they are kept away from small
children while assembling.

(Warranty Information:)

e\We warranty this product to be free from defects in materials. This
warranty covers one year from the date of original purchase.

1/7




A H aa M8x55 | 4
bb M6x50 | 4
( D e cc M6x40 | 4
2PCS 2PCS dd M6x35 | 8
B I ee M6x30 | 2
- 1 M6x25 | 2
o= g9 M6x15 | 8
1PC 2PCS hh 8
C J ii 12
ii e/ 2
Kk L 1
1PC 4PCS 1 L 2
D K

mm 57 1
/ nn 20
ZECS ZECS cC| gmmmm |1
dd | Qummmm 1
W ee | gumm 1
| gom 1

2PCS 1PC SPARE
F M 99 1
hh 1
T L =1
4PCS 1PC L QI -
G m| 02 |1

6PCS

217




Step 1

M6x15 | 4

gm

99

Step 2

3/7

2

M8x55 | 2

@)Illml)mll)l)

M6x35

@ o

==

aa
dd
hh

kk




aa M8X55 Step 3
dd (Junmin M6x35

hh &

i -

kk

i1 [

dd {1 Méx3s| 4 Step 4
T -

i1 |

A4l7




cc Méx40| 4 | Step 5
1 L

bb M6x50 Step 6
€e | Qmmmm Me6x3o| 2 ( T

ii o/

11 L

mm 57




Step 7

gﬁgxfa}

Step 8

M6x15 | 4

gm

99
i
1

nn

6/7




Step 9

2

Step 10

M6x50 | 2

M6x25

12

bb
f

17

nn




	6010福昕四款大中小铁床 Model (1)
	6010福昕四款大中小铁床 Model (1)
	6010福昕四款大中小铁床 Model (1)
	6010福昕四款大中小铁床 Model (1)
	6010福昕四款大中小铁床 Model (1)
	6010福昕四款大中小铁床 Model (1)
	6010福昕四款大中小铁床 Model (1)

